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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in
the blanks with suitable articles like

5. Rainy season comes before

A .
‘a’, ‘an’ and ‘the’ : (A) winter
(B) spring
1. There are 30 or 31 days in
(C) summer
month.
(A) the (D) More than one of the above
B) a (E) None of the above
(C) an
(D) More than one of the above 6. The eighth month of the year is
(E) None of the above A) July
2. My father is engineer in (B) September
the Water Works Department. (C) October
(A) the
(B) an (D) More than one of the above
(C) a (E) None of the above

(D) More than one of the above

(E) None of the above 7. Sister-in-law is

3. Which of the following is a part (4) husband’s sister

of bedroom? (B) wife’s sister
(A) Pillow

(B) Table lamp

(C) Curtains

(D) More than one of the above
(E) None of the above

(C) brother’s wife
(D) More than one of the above
(E) None of the above

8. Cousins are
4. Which of the following is a part

of a room? (A) maternal

(A) Window (B) paternal

(B) Ceiling (C) siblings

C) F1

(C) Floor (D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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9.

10.

11.

12.

‘Ftét’ weg H wH-w w@w Y
(A) FeFETE G

(B) Siferer=res @1

(C) wTeaT=I BT

(D) 3wtk # & T § enferen
(E) 3w & & 18 7t

fferfiad wsdl § & FH-w1 TehawH 77
(A) TEER

(B) BFm

(C) =g

(D) 3w U | UH A Al

(E) 3w & & 18 7

fe=dt vt § ‘g’ w1 A fRg a0 %
o8 A1 27?

INEEERE

(B) ¥ e

(C) = % 99w

(D) 39w H ¥ TH ¥ M
(E) 3w & & 18 7t

‘ot 7' gwaE 2, 38 a3\
AR W -1 T 27

INBREEREIEES

(B) TEeEm®

(C) gEvaTIH

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T

24 /HV/M-2023-20/S5 (HS)/244-A

13.

14.

15.

16.

e =61 g g - TE R
(A) sTETEATHe forRreor

(B) U= fergrem

(C) i fergror

(D) 39w | ¥ UH ¥ M+

(E) 3udth # @ 1S T

frfefaa & & F=-1 3735 72 27
(A) Fvew

(B) FH

(C)

(D) 39w | ¥ UH ¥ M+

(E) 3w & @ 18 7

frfafaa 9 @ &F-81 gE Fd- aren
MR

(A) &b

(B) &=

(C) =TT

(D) 39w W | TH § Afh
(E) 3udth # & g T

frfeafiga & @ F-a1 “qom’ e 7
(A) R

(B) w®

(C) =%

(D) 39w W | TH § Afh

(E) Sudth # & #1$ T

[P.T.O.



17. Tfafad § & wm-w1 foesft s &7

18.

19.

20.

(A) =T

(B) wiieEn

(C) =m

(D) 3w & ¥ wh @ Afeek
(E) 3w & & 18 7t

=T % R WA 3sa] & @e g
8 3% FH-91 I el AT &7

(A) w3

(B) i

(C) InTEg

(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T

frfafaa @ 4 fra o 0 ‘edw
fop” 27

(A) 38 Ta TR |

(B) fetert et 21

(C) ¥a% & | TR 9T 2|

(D) 39w | ¥ UH ¥ M+

(E) 39tk # & 1S T

freferfad & & F-1 39 wTeg 27
(A) mEmr

(B)

(C) waw

(D) 39w | ¥ TH ¥ M

(E) Sudth # & #1$ T
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21.

22.

23.

24.

ffafias & @ F9-T1 T ®¢ s
& &7

(A) <R

(B) SIHRI

(C) wefd

(D) 39w U | UH A Al

(E) 3wt § @ #1g T

‘@i’ fope a1 Tee 87
(A) el

(B) Wt

(C) ol

(D) 3uYh H § TH ¥ Al
(E) 3w & @ 18 7t

IE X IME T B HH-a1 TH T
g &7

(A) HIEATRHI—RIHr

(B) g—P2

(C) WTRTH—HETH

(D) 30w W | TH § Afh

(E) 39tk # & #1$ T

“Ioem afos SSEd 2 T o9 ®
Eifehd wsg I g AT hi-HT B7

(A) S

(B) $sc

(C) 3saa

(D) 3w U | UH § Afh
(E) ST 4 4 & 7

4 [UREnanee



25. UF B2 IMHd 1 THhIAT o, S A

26.

27.

W forefl fog 1 feufa =1 w18 e g,
3W 1 HEd 87

(A) FER

B) fm

(C) wTe

(D) 3w W | TH § Al
(E) 39w | & &g T

‘FFEF o G HT FT TH 27
(A) =Thaly

(B) =R uigeh

(C) Hfvrcfieror 70

(D) 39w | ¥ TH ¥ M
(E) 30 § & =+ T

“Srarer B are e |
gId g3 Heeld, Sig-arg &g Ma |l

I HTI-UTRAT T HH-91 T 27

(A) Fm

(B) ®

(C) daTced

(D) 39w | ¥ TH ¥ M
(E) 39w # & &8 7
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28. &= Wil % 3gWE &1 el HHT ST 2

29.

30.

(A) 500 3o go

(B) 500 %o

(C) 1000 3o

(D) 3 U | UH A Afh
(E) 3w & @ 18 Tl

e A b 1 B e 4 G B =i
fetrfem, wnfimrt vd g gfas Ame @6t
EZdRIRI

A) diRafera

(B) ¢fiem

(C) R vura

(D) 39w W | TH § Afh
(E) 3udth # & 1S T

o wedl W fom, a=H, R # owE
9 9 U2, 9 FEAd &

(A) ==

(B) o=t

(C) Afrrdt

(D) 39w | ¥ TH ¥ 3=
(E) 39w # & &8 T

[P.T.O.



31.

32.

33.

PART—II
( GENERAL STUDIES )

The floor of a rectangular hall
has a perimeter 250 meters. If
the cost of painting the four
walls at the rate of 10 per
(meter)? is € 15,000, then the
height of the hall is

(A) 7 meters

(B) 16 meters

(C) 6 meters

(D) More than one of the above

(E) None of the above

Which of the following
statements is not true?

(A) Every natural number is a
whole number.

(B) Every integer is a whole
number.

(C) Every natural number is an
integer number.

(D) More than one of the above
(E) None of the above

The average of 7 consecutive
numbers is 20. The largest of
these numbers is

(A) 20
(B) 21
(C) 23

(D) More than one of the above

(E) None of the above
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34. The equation ax?+bx+c=0 has

35.

two distinct real roots, if

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) More than one of the above

(E) None of the above

Mohan can do a bit of work in
25 days which can be completed
by Sohan in 20 days. Both
together labour for 5 days and
afterward Mohan leaves off. How
long will Sohan take to complete
the remaining work?

(A) 20 days
(B) 11 days
(C) 14 days

(D) More than one of the above

(E) None of the above



31.

32.

33.

PART—II

( GENERAL STUDIES )

T IAAHR B & B hl IRy
250 Hier g1 gfe & 10 ufa o e
WY I AaE U = H A
¥ 15,000 2, a1 gt il ST 8

(A) 7 Hi

(B) 16 #ix

(C) 6

(D) 39w H ¥ UH ¥ M+

(E) 3w d ¥ =I5 T

fefafga & @ FH-w1 w9

T 27

(A) T WTHd WA, TH 0w B

(B) Yk qUIieh, Teh qUT G B

(C) Y% UIHd €&, TH YUl
e 2|

(D) 30w W | TH § Afh

(E) 37d & & 18 T

7 HHATG AT 1 3fEd 20 21 TH
Y oy 99 O ©

(A) 20

(B) 21

(C) 23

(D) 39w | ¥ UH ¥ M+
(E) 3udth § & #1$ T
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34. T F0 ax2+bx+c=0 % d fiE

35.

rEdfae ge i, Al

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) 3w U | UH A Al

(E) 3w H © %18 T

e 25 T # uh wm 9 e B
@ @ 20 f it & 9u s wehar 2|
Al U |y 5 Tt & fou o a2
3R 3Gk 18 Higd H BIS ol gl AT

F P QU A H died Hl o am
Y

(A) 20 f&
(B) 11 f&
(C) 14 f&
(D) 3w W | TH § Al

(E) 37 & & 18 e

[P.T.O.



36.

37.

38.

If X=a°-b?
a+ b =15, then

Y =30 and

(A) X is lesser than Y if a=b
(B) X is greater thanY ifa> b
(C) Y is greater than X ifa=b
(D) More than one of the above

(E) None of the above

The probability of a non leap
year selected at random will
contain 53 Sundays is

1
(A) =
2
(B) =
1
(©) =3

(D) More than one of the above

(E) None of the above

If 7126 = 493x+12 " then the
value of x is

A) 3
(B) 4
C) 7

(D) More than one of the above

(E) None of the above
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39. Myopia is a disease in which a

40.

41.

person cannot see
(A) distant objects clearly
(B) nearby objects clearly

(C) nearby as well as distant
objects clearly

(D) More than one of the above

(E) None of the above

The term ‘heredity’ chiefly refers
to

(A) anatomy

(B) meiosis

(C) genetics

(D) More than one of the above

(E) None of the above

in which food is
packed are coated with tin and
not zinc because

The cans

(A) tin is more reactive than
zinc

(B) zinc is more reactive than
tin

(C) zinc is costlier than tin
(D) More than one of the above

(E) None of the above



36.

37.

38.

afs X =a?-b?,
a+b=157%,

A) XBizYydaaka=hb

Y =30 du=@

(B) Xagig Y@ARa>hb
(C) YSeig X¥aa=h
(D) 39w H ¥ UH ¥ M+
(E) 3w & @ 18 7t

gfoa® €9 ¥ FH T TH - a9 |
53 oaR g4 =t TiReRar 8

1
(A) =

(B) =3

1
(©) =3
(D) 30w W | TH § Afh

(E) 3w | ¥ 18 e

-qﬁ 712X+6 — 493x+12 —Eﬁ, ?ﬁ x &1
GIChd

(a) 3

B) 4

(C) 7

(D) 3w W | TH § Afh
(E) 3udth # & #1$ T
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39. wEifuan T sw g, e whte @

40.

41.

EERICIR

(A) T H L T ¥ Y

(B) U il IEIE TE €Y Y

(C) T8 & qT T I U T &9 H
(D) 39w | ¥ TH ¥ M

(E) 393t o & 18 T

‘SEfERdT Y gEd w9 ° fRg
Hafilq st 27

(A) IRR-T=AT

(B) regEht favsH

(©) st

(D) 3w ® § TH ¥ fh
(E) 3udth § & #1g T

o fesai & @ ¥ fom San g, A
R fo & wa = Bt & 7 R 5w A
FifR

A) fH, & H g # Al
fefsramefier

(B) T, &7 & gam # Afees
fefspramefier

(C) 5=, fmaweme
(D) 39w U | TH § Al
(E) 37 & ¥ 18 e

[P.T.O.



42. The process in which 44.

atmospheric carbon dioxide is
converted into carbohydrates
during photosynthesis is

(A) oxidation

(B) reduction

(C) hydrolysis 45.

(D) More than one of the above

(E) None of the above

43. The quality of a printer is
determined as

(A) words per inch

(B) strike per inch

(C) dots per inch

(D) More than one of the above

(E) None of the above

46.

Trachoma disease is related to

(A)
(B)
(C)
(D)

(E)

lungs

ears

eyes

More than one of the above

None of the above

Which of the following makes
use of Newton’s third law of

motion?

(A) Archery

(B) Space rocket

(C) Venturimeter

(D) More than one of the above
(E) None of the above

Particles which can be added to
the nucleus of an atom without
changing its chemical properties

are

(A)
(B)
(€)
(D)

(E)

neutrons

electrons

protons

More than one of the above

None of the above
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42. g Yihar, ad Tme-wvame & SH

43.

IYE TAT wEA SEATFERS  H
Fratergee § giatdd o Sar g, 2

(A)  ATereTeRToT

(B) 1q==A

(C) STeft-forgereoT

(D) 39w H ¥ UH ¥ M+

(E) 3T | ¥ *18 e

wF e & o frea fetfa d
STt 27

(A) e ufd 3=

(B) WER Ui ¥

(C) forg wfa &=

(D) 30w W | TH § Afh

(E) 37 | ¥ 18
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44, HET T H qER 7

45.

46.

(A) wwEt @

(B) &M ¥

(C) =At@i @

(D) 39w | ¥ TH ¥ M

(E) 39w & & &g T
frefefaa & & F-a = % T
ek fw o1 3T T 87

(A) e

(B) 37afted Wehe

(C) e

(D) 3w W | TH § Al

(E) 3udth # & 1S T

O o I SaREfid T@d ge T
TIHTY] o AT | SIS ST aTet T §
(A) =g

(B) FwgH

(C) Wi

(D) 39w | ¥ UH ¥ i

(E) 39w # & &8 7

[P.T.O.



47. Before Elon Musk announced

48.

49,

change of the signature Blue
Bird logo to Sign X’ logo, who is
regarded as the creator of
Twitter’s iconic Bird in its final
version in 20127

(A) Jack Dorsey

(B) Martin Grasser

(C) Noah Glass

(D) More than one of the above

(E) None of the above

Who is the Director of the
famous film Oppenheimer, a film
about high-concept
released this year?

science,

(A) Christopher Nolan

(B) Guy Ritchie

(C) Laura McGann

(D) More than one of the above

(E) None of the above

Which one of the following has
pulled out from hosting the
2026 edition of Commonwealth
Games due to huge estimated
expenditure on its organization?

(A) London, UK

(B) Kuala Lumpur, Malaysia
(C) Victoria, Australia

(D) More than one of the above

(E) None of the above
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50. What is the full form of INDIA, a

51.

recently formed alliance of
opposition political parties?

(A) Indian National Develop-
mental Inclusive Alliance

(B) Indian National Develop-
ment for Improvement
Alliance

(C) Indian National Develop-
mental Inclusive Associa-
tion

(D) More than one of the above

(E) None of the above

What message was sent by
Chandrayaan-2 lunar orbiter to
Chandrayaan-3’s lander module
when it established contact with
it in August 20237

(A) “Welcome home”

(B) “Chalo
chalein”

chand ke paar

(C) “Welcome, buddy”

(D) More than one of the above

(E) None of the above



47. TEH W FN MUR & 98 @rn @

48.

49.

TRt X A o =F Y uEd,
2012 ¥ 1 AfH "eRor H g %
yiafsd =< % i & &9 # fra A7m
I

(A) S et

(B) wféT ame

(C) eI T&@E

(D) 3w U | TH A Afh
(E) 3udeh # & 1S T

30 a4 ellsl g8 I=-3auron g™ &
IR § yttg fhen “afioeem’ & v
HH 87

A) e TeH

(B) s =t

(C) < B

(D) 39Y® | ¥ TH ¥ M

(E) 3w & 9 18 T

Freafafaa & @ fFoa w51 welt &
2026 TR H ASEHT F THh
FRSH W 9 STFATHG 2T o R0
IO A AT9E o forn 87

(A) @&, Fo ho

(B) FAAR, AARTN
(C) foertfeam, sitefern
(D) 39w H ¥ UH ¥ M+
(E) 3udth # & 1S T

24 /HV/M-2023-20/S5 (HS)/244-A

50. g g # od fquefi usHifas e &

51.

13 (R

T INDIA %1 qUiEq -1 37

(A) 3T THA STUHeA  EME

AATTH

(B) 3fead JvHd STcUHE HR IHEHE
FATH

(C) e THE Sa@uHeA  IFd
LEIELE]

(D) 39w | ¥ UH ¥ i+

(E) 37 & & 18 e

A 2023 § T wEAE-2 Wg
e T I5AH-3 & ik uiegd o

groes Tefud R, df 3EY 39 T EeW
AT oY

(A) “Sorwm T

(B) ‘=it =g % ur =t
(C) “‘ScTewm, Tt

(D) 39w H ¥ UH ¥ M
(E) 39w # & 18 T

[P.T.O.



52. Name the former President of

53.

54.

China who crushed the pro-
democracy movement in 1989.

(A) Mao Tse Tung

(B) Yang Shangkun

(C) Jiang Zemin

(D) More than one of the above

(E) None of the above

Who has elected for the second
term as Ireland’s Prime
Minister?

(A) Sanna Marin
(B) Robert Abela
(C) Leo Varadkar
(D) More than one of the above

(E) None of the above

African Union was made a
permanent member in the G-20
Summit held in India. Who is
the Chairman of the African
Union?

(A) Azali Assoumani

(B) Justin Trudeau

(C) Ursula von der Leyen

(D) More than one of the above

(E) None of the above
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55. As per geographical area,
arrange the following physio-
graphic units of India in

56.

ascending order

1. Central highlands
2. Great plains

3. Coastal plains

4. Northern Mountains

Select the correct answer using
the codes given below.

A 3,1,2,4
B 1,2, 3,4
< 2,4,1,3

(D) More than one of the above

(E) None of the above

Arrange the following ranges
from North to South in
sequence :

1. Ladakh

2. Karakoram
3. Pir Panjal
4. Zanskar

Select the correct answer using
the codes given below.

A) 1, 3,2, 4
B) 2,1,4,3
< 3,4,1,2

(D) More than one of the above

(E) None of the above



52.

53.

54.

1989 U dlhasl Gwde IT<Icd i

FaeH ard FH1 % 99 Ugafd w AW
fefiam |

(A) ST & g

(B) = WA

(C) fomrm Siftm

(D) 30w U | TH § Afh

(E) 3udth # & 1S T

APRSlE & TAEEA F ®T OF g
FrdeRtet & fore fordr gm e 27

(A) &= wH

(B) e el

(C) fort strga

(D) 39w | ¥ UH ¥ M

(E) 3udth # & #1$ T

IRa # TG si-20 R awes d

FER Y Rl TR ¥ ST T
TR G5 % 7L Hi 87

(A) T e

(B) et g2t

(C) 3G aH X TH

(D) 39w | ¥ TH ¥ M
(E) 39w # & &g 7
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55. WFlifeh &% & gaR, 9Rd &

56.

15 (R

FfaRaa e (Tefsammtes) st
1 TR ¥ H ATEd HIT :

1. s =9
2. HgH AeH
3. W HeN

4. 398 v
f= fow T g W oW W EE W
el

A) 3,1,2, 4
(B) 1,2, 3, 4

(C) 2,4,1,3

(D) 39w | ¥ UH ¥ M
(E) 3udth # & 1S 7

frefaitaa aftml = s @ <y i
3N A | HAEId il

1. o€
2. THHIA
3. R U~

4., SR
= fau MU Fe W O W AE IW
Tl

A) 1,3,2, 4

B) 2,1, 4, 3

(C) 3,4, 1,2

(D) 39Y® | ¥ TH ¥ M
(E) 3udth # & #1$ T

[P.T.O.



57. During the monsoon season in

58.

59.

India, most of the cyclones have
their origin

(A) between 8°N and
latitude

13° N
(B) between 10°N and 15°N

latitude

(C) between 16°N and 21°N
latitude

(D) More than one of the above

(E) None of the above

Which of the following areas is
not landslide-prone area?

(A) Western Ghats

(B) Eastern Ghats

(C) Himalayan Regions

(D) More than one of the above

(E) None of the above

Which of the following coasts of
India is most affected by violent
tropical cyclones?

(A) Malabar

(B) Coromandel

(C) Konkan

(D) More than one of the above

(E) None of the above
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60. When

61.

62.

running water cuts
through clayey soils and makes
deep channels, they lead to

(A) gully erosion
(B) sheet erosion
(C) deforestation
(D) More than one of the above

(E) None of the above

Which of the following receives
heavy rainfall in the month of
October and November?

(A) Hills of Garo, Khasi and
Jaintia

(B) Coromandel Coasts
(C) Plateau of Chota Nagpur
(D) More than one of the above

(E) None of the above

Cultivation of fruits and

vegetables is called

(A) floriculture

(B) agriculture

(C) horticulture

(D) More than one of the above

(E) None of the above



57. WRA H AEd disq H SRR Fghardi

58.

59.

1 et 2l @

(A) 8° 3o 3R 13° Jo AL & HEA
(B) 10° 3o 3T 15° 3o ALY & Te
(C) 16° 3o 3 21° o H&TIT & HeA
(D) 3w ¥ ¥ % ¥ Al

(E) ST | 9 =5 T

frafafaa @i 4 ¥ FH-91 yEEen-
YT () T 27

(A) ufyet =

(B) et =

(C) femerft &

(D) 374w # ¥ T & e

(E) 304 & & rg 7
Fafafad 4 9 ara =1 ®H-91 92 3
IUEHRES T whATal § Hew 3k
g 7

(A) FEER

(B) HRmSA

(C) =highul

(D) Sugth @ | TH W Aferh

(E) S H @ i3 T
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60. 9 sEal gl e gt # wear @

61.

62.

17 R

3R e A ST B, A T B 87
INBRIS TG

(B) ¥fie &mu

(C) =i 1 Herd

(D) 39w H ¥ UH ¥ M+

(E) 3w 8§ & g T
frfafiad # @ el TR 3R T &
TR F ol auf 2t 27

(A) TR, WrE 3R SAfan i gerteat
(B) #RHsd e

(C) BIEFFY FH T8

(D) 3w & U @ rfeen

(E) 39w & & &g T

il U wfesEt 1 Gt Feard @
(A) et 1w

(B)

(C) =T

(D) 39w H ¥ TH ¥ M+
(E) 39w # & *1$ 7
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63.

64.

65.

66.

Who provided leadership in the
districts of Patna, Ara and
Shahabad during the Revolt of
1857 in Bihar?

(A) Raj Kumar Shukla

(B) Namdar Khan

(C) Kunwar Singh

(D) More than one of the above
(E) None of the above

The Partition of Bengal was
made effective on

(A) 14 October, 1905
(B) 15 October, 1905
(C) 16 October, 1905
(D) More than one of the above
(E) None of the above

The Quit India Resolution was
adopted by the Congress in
Bombay on

(A) 7 August, 1942

(B) 8 August, 1942

(C) 9 August, 1942

(D) More than one of the above
(E) None of the above

The British ruled India for a long

period due to the

(A) liberal
Congress

policies of the

(B) imprisonment of Indian

leaders
(C) policy of Divide and Rule
(D) More than one of the above
(E) None of the above
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67.

68.

69.

70.

Queen Victoria’s Proclamation

was issued on which of the

following dates?

(A) 1 November, 1857

(B) 27 March, 1858

(C) 1 November, 1858

(D) More than one of the above

(E) None of the above

Which of the following

statements is/are correct?

(A) Raja Rammohan Roy was
the pioneer of modern

education.

(B) Swami Dayanand
proclaimed India for
Indians.

(C) Vivekananda participated in
the Parliament of World
Religions.

(D) More than one of the above

(E) None of the above

Who among the following

became India’s unofficial

Ambassador to England?

(A) Surendranath Banerjee

(B) Dadabhai Naoroji

(C) Swami Vivekananda

(D) More than one of the above

(E) None of the above

Who described the Government

of India Act, 1935 as a ‘Charter

of Slavery’?

(A) Mahatma Gandhi

(B) Netaji Subhas Chandra
Bose

(C) Maulana Hasrat Mohani
(D) More than one of the above
(E) None of the above



63.

64.

65.

66.

foer #1857 &t wifd & SRH e,
AW R wmerEe et § R Aga
T fera?

(A) TSIHHAR LTt

(B) -WER @f

(C) Fr T

(D) 39w H ¥ UH ¥ M+

(E) 37 & & 18 T

A o favrse gwrelt g
(A) 14 TR, 1905 =i
(B) 15 3mEeR, 1905
(C) 16 3R, 1905 =
(D) 39y H ¥ TH ¥ M
(E) 3udth # & 1S T

TS H HUE g WG Drel T 9™
IERIRIE

(A) 7 3T, 1942 =
(B) 8 T, 1942 @i
(C) 9 3T, 1942 =i
(D) 30w W | TH § Afh
(E) 3wt § & 1S T

US4 WG T o o9 deh U9 hdl
fepam?

(A) =G it graTEl Fifadt & FHror
(B) et Jared s TRt & sror
(C) ‘afer 3R us A i Hifa & FHwor
(D) 39w H ¥ UH ¥ M+

(E) 3udth # & #1$ T
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67. ffafaa & & frm fafy =

68.

69.

70.

19 (RN

foaeifen i 3gamon S g7
(A) 1 7FawR, 1857

(B) 27 |, 1858

(C) 1 7awR, 1858

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T

Ffafga # 9 E-81 Ho w2 87

(A) TST oW @ W fem
TIoft 9|

(B) @Mt g¥M=< 4 ‘YRd WRdRN
fora’ =t A fem

(C) s 3 fava o wog § om
fomm|

(D) 39w | ¥ UH ¥ M+

(E) 3w & @ 18 7t

T U T Tl H 9RA % SRR

gd a7

(A) Gl s

(B) =TS TRt

(C) Tt faaems

(D) 39w | ¥ TH ¥ 1M

(E) 3t # & 1S 7

TR R AfMHTH, 1935 =1 forem

T[T T AL AT

(A) W et

(B) TS GuTY =5 9

(C) IS Zoxd Wrem

(D) 39w W | TH § Afeh

(E) 394 # & hrg 7
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71.

72.

73.

PART—III

( GEOGRAPHY )

Which is the nearest galaxy to
our galaxy Mandakini?

(A) Andromeda

(B) Sirius

(C) Vega

(D) More than one of the above

(E) None of the above

In which stage of demographic
transition are industrialization
and urbanization found?

(A) First
(B) Second
(C) Third

(D) More than one of the above

(E) None of the above

On the basis of fossils, which is
the origin place of man?

(A) Rift Valley of Africa

(B) Central Asia

(C) Jerusalem

(D) More than one of the above

(E) None of the above
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74. Who said that the Geography

75.

76.

is the study of areal

differentiation?

(A) Hartshorne

(B) Salisbury

(C) Shaler

(D) More than one of the above

(E) None of the above

Which of the following lines
separates two biotic regions?

(A) Andesite

(B) Wallace

(C) Form

(D) More than one of the above

(E) None of the above

Which one of the following is
the largest linguistic group of
India?

(A) Sino-Tibetan

(B) Indo-Aryan

(C) Austric

(D) More than one of the above

(E) None of the above
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PART—III

( GEOGRAPHY )
71. TAR STHRETT HMRA d  Haideh 74. TFEH e T i@ s fofvear @&
Tt fera fotadt - 27 ST AT 27
(A) T gme (A) TR
(B) fafew (B) &fcasdt
(C) =m (C) TR
(D) 39w H ¥ UH ¥ M (D) 39w | ¥ UH ¥ 3+
(E) 3T | ¥ 18 (E) 37 | ¥ 18 e

72, SN 3 TR SO 75. fTfafga & @ =9-d@ @ @ e

TgHOT Y foR STaEe 1 @Eo 27 TERTT I ST FAAT 27

(A) 5o (A) TeEe

(B) Tac (B) @™

(C) g (©) wM

(D) 37 | § TF ¥ Al (D) 7Y H § TH ¥ Al
(E) 394w & & *15 T (E) 39w & & &g T

73. SOHT % YN W HHI-3AM dheg 76. fT=fafga 4 @ w9-91 9@ =1 @@

F-41 87 STgT AT TE 77

(A) eThieRt st frge =met INIREEIRGERE]

(B) W& TREN (B) 3 Sr-3mA

(C) SEweH (C) =iE®

(D) 30w W | TH § AfUh (D) 39w W | TH § Afh
(E) 3w & © *1E T (E) 3w & =15 T

24/HV/M-2023-20/S5 (HS)/244-A 21 [N e.t.o.



77. Regional planning relates to the

(A) development of various

sectors of country

(B) area specific approach of

development

(C) area differences in trans-

portation network
(D) More than one of the above

(E) None of the above

78. Diego Garcia is a part of
(A) Chagos Archipelago
(B) Socotra
(C) Mascarene Islands
(D) More than one of the above

(E) None of the above

79. Which is the oil refinery having

maximum capacity of India?
(A) Koyali

(B) Trombay

(C) Barauni

(D) More than one of the above

(E) None of the above
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Which is the foundation year
of the department of Survey of
India?

(A) 1667
(B) 1767
(C) 1867

(D) More than one of the above

(E) None of the above

Solidification of rocks due to
pressure and temperature is
called

(A) metamorphism

(B) induration

(C) dehydration

(D) More than one of the above

(E) None of the above

Engel’s law throws light on
(A) expense pattern

(B) wind direction

(C) vegetation growth

(D) More than one of the above

(E) None of the above
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77. S IS Getd @

78.

79.

(A) Fr ok fafirm &mi o foee @
(B) foerma & e=-fafirs 3urm @
(C) ufae @ ° exfia-fafvmarst @
(D) 39w H ¥ TH ¥ M

(E) 39w & & &g T

fewm mfden forw foee w fom 77
(A) =g

(B) @

(C) HEwiH

(D) 3w & U O atfee

(E) 39w & & &g T

URd 1 Gl GHd] el delsiysh
HREMT HH-91 87

(A) =Tt

(B)

(C) =

(D) 39w | ¥ UH ¥ M+
(E) 39w # & &g 7
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80. WA Ga&qu Ty =1 €91 a9 2

81.

82.

(A) 1667

(B) 1767

(C) 1867

(D) 39w | ¥ UH ¥ 1M
(E) 39w & & &8 T

TEMI 1 @ qAT A9 & HROT HST SHT
FEATdl &

(A) =TT

(B) FerH

(C) fastefierto

(D) 39w | ¥ UH ¥ M+
(E) 393t o & 18 T

TSI o TRt ST @

(A) @ yfqEy |

(B) 9o &= W

(C) amwafa fompra ®

(D) 39w | ¥ UH ¥ M
(E) 3w § 4 g T
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83.

84.

85.

86.

Dasymetric method is used to
measure

(A) depth of sea

(B) population density

(C) altitude of a relief

(D) More than one of the above
(E) None of the above

Davis, the propounder of cycle
of erosion, was associated with

(A) USA

(B) Britain

(C) Germany

(D) More than one of the above
(E) None of the above

Savanna type grass in Brazil is
called

(A) Selva
(B) Limpo
(C) Veld

(D) More than one of the above

(E) None of the above

Which one of the following
urban agglomerations has the
highest share in migrant
population?

(A) Mumbai UA

(B) Delhi UA

(C) Bengaluru UA
(D) More than one of the above

(E) None of the above
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87. In which of the following years
was the first radio programme
broadcasted?

(A) 1923

(B) 1936

(C) 1927

(D) More than one of the above
(E) None of the above

88. The Mountains along the
Mediterranean Coast of Asia
Minor are
(A) Pontic
(B) Taurus
(C) Kirthar
(D) More than one of the above
(E) None of the above

89. Where are the Panna Diamond
Mines located?

(A) Bundelkhand
(B) Bhander Plateau
(C) Baghelkhand
(D) More than one of the above
(E) None of the above
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83.

84.

85.

86.

fmfees faftr @ @ ardt /amn strar 27
(A) wgs b TR

(B) SHEEAT oA

(C) T &l S8

(D) 39w H ¥ TH ¥ M+

(E) 3udth # & 1S T

‘AT = A Uleheddr % Ufduiesd
2foq form 2w & 97

(A) TIE TT SR

(B) forH

(C) St

(D) 39w H ¥ UH ¥ M+
(E) 3ude d @ *iE T

STsfiel o eI o sh1 BT sheeTdl &
(A) et

(B) fereay

(C) des

(D) 39w | ¥ TH ¥ M

(E) 3w & @ 18 7t

foaferfiaa & @ for et T 1 T
e # et ged et 87

(A) geR-o To

(B) fegi-go wo

(C) STege-Fo To

(D) 39w H ¥ UH ¥ M+

(E) Sudth # @ #1$ T
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87. Tmafafaa @ @ frm ad A wgen e

88.

89.

FHredeRn ST foRem T ot
(A) 1923

(B) 1936

(C) 1927

(D) 39w | ¥ UH ¥ M+
(E) 3udth # & 1S T

TREN 7SR % YHSAErRE q¢ | fea
wed A §

(A) Ui

(B) =i

(C) ferelx

(D) 39w | ¥ UH ¥ M+
(E) 3udth # & 1S T

‘ga1 € @ el fevrd 27
(A) F<erE S

(B) T ST TR

(C) =&e@

(D) 39Y® | ¥ TH ¥ 1M
(E) 3w § 4 18 T
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90. On which projection does the 93. Cephalic Index is affected by
Survey of India prepare the

toposheets? (A) environmental factor

(A) International (B) food

(B) Mercator (C) gene

(C) Conical (D) More than one of the above
(D) More than one of the above (E) None of the above

(E) None of the above
94, Who is the father of Human

Geography?
91. The main cause of landslide is
(A) Blache
(A) gravitation
(B) Ratzel
(B) hydration
(C) Ritter

(C) slope

(D) More than one of the above
(D) More than one of the above

(E) None of the above
(E) None of the above

95. The concept of environmental
92. Gateway City is situated planning and ecological balance
is started from
(A) on coastal areas
(A) scientific determinism
(B) between two large areas as

primate city (B) possibilism
(C) at gap (C) stop and go determinism
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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90. WRA™ TA&U fawM T AR yoI®

91.

92.

fore 8T W =9 B §7

(A) T

(B) Wk

(C) YT&THR

(D) 39w H ¥ UH ¥ M+
(E) 3udeh # & 1S 7

JEEEH T YW HRU B
(A) e

(B) SIA-ISH

(C) =i

(D) 3w 6 | TH A Al
(E) 39w # & 1§ 7

g fafe foa g 2
(A) deadl W W)

(B) @ =2 &= % Hed WUl TR *
w9 q

(C) T
(D) 39Y® | ¥ TH ¥ M
(E) 37 & ¥ 18 T
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93.

94.

95.

e gerhieh wTied e @
(A) TaTaef o |

(B) WIsH ¥

(C) S &

(D) 39w | ¥ UH ¥ 3"
(E) 39w & & 18 7

‘A T T SHE B 27
(A) e

(B) TE=a

(C) f=x

(D) 39y | ¥ TH ¥ 1M
(E) 39w & & &g T

ey e e urifefas ageq &
HehedAT o1 foepme TRy gam

(A) AFTTes Fafaare @

(B) HRIEETE ¥

(C) eI 3R Seft fafaams &
(D) 39w | ¥ UH ¥ 1M
(E) 39w # & I8 7
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96. Which one of the following 99. In which physiographic region of
is India’s rank in terms of India is Jaipur situated?
the Human Development Index
among the countries of the (A) Himalayan Mountains
world in 2011°?
(B) Peninsular Plateau
(A) 126
(C) Northern Plain
(B) 134
(C) 128 (D) More than one of the above
(D) More than one of the above (E) None of the above
(E) None of the above
100. How many latitudes are there
97. In how many zones has the on the globe drawn in 1 degree
. . interval?
Indian Railway system been
115
divided- (A) 178
(A) 9
B) 179
B) 12
(C) 180
(C) 16
(D) More than one of the above
(D) More than one of the above
(E) None of the above (E) None of the above
98. Which of the following countries 101. The rocky surface on mountain
is not located on the coast of top is called
the Gulf of Agaba?
(A) Felsenmeer
(A) Saudi Arabia
(B) Fella
(B) Jordan
(C) Palestine (C) Felt
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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96. 2011 ® faw@ & 2w & = AHa

97.

98.

fow guewes % wed § wRa @
frferfed & & m-1 ToH 27

(A) 126

(B) 134

(C) 128

(D) 39w | ¥ TH ¥ M
(E) 39w & & 18 7

A Idd Jomedl sl fohad ST #
fomfSra feram e 27

(A) 9

(B) 12

(C) 16

(D) 39w W | TH § AfUh
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T 27

(A) T3 el

(B) Sied

(C) Tofered

(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1$ T
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99.

100.

101.

SEQX WRA o foRE TARfdR yew H
fera 77

(A) fearem w&d@ 9w
(B) YHEId 48R

(C) ud BeM

(D) 39y H ¥ TH ¥ 1M
(E) 3udeh # & 1S T

o W1 felft % eraue W s
3179 @e fohat 27

(A) 178

(B) 179

(C) 180

(D) 3w W | TH ° Al
(E) 393 o & 18 7

gdd Rt W fyem gl =gl ddg
FEeATd B

(A) heTOHR

(B) et

(C) Wee

(D) 39w | ¥ UH ¥ M+
(E) 39w # & &8 T
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102. Green labour is a labour who

103.

104.

(A) works in a greenhouse

(B) works as a labour in
agricultural fields

(C) goes to work for wage for
the first time

(D) More than one of the above

(E) None of the above

With decreasing population the
man-land ratio

(A) decreases

(B) increases

(C) remains constant

(D) More than one of the above

(E) None of the above

According to the ancient
Indian geographers, the Central
Meridian passes through

(A) Jabalpur
(B) Nagpur
(C) Ujjain

(D) More than one of the above

(E) None of the above
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105. Environmental

106.

107.

pollution has
given birth to

(A) determinism

(B) neo-determinism

(C) scientific determinism

(D) More than one of the above

(E) None of the above

Which one of the following towns
is not located on a river bank?

(A) Agra
(B) Bhopal
(C) Patna

(D) More than one of the above

(E) None of the above

Which one of the following is
a landlocked harbour?

(A) Vishakhapatnam

(B) Mumbai

(C) Ennore

(D) More than one of the above

(E) None of the above
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102. ¥ e 98 oeR 7, S

103.

104.

(A) Tfd-Te # % e §

(B) Hvea § #fieh % ®1 ¥ &M
AT

(C) 99 &R da4 & folu &M =
ST 2

(D) 39w | ¥ UH ¥ M
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(D) 39w H ¥ UH ¥ M+
(E) 39w & & 1§ T
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105. TieRor yguer 3 S fe @

106.

107.

A) fafaame =t

(B) a-fafdare =i

(C) aFTes Frafaare =t
(D) 39 U | TH A Afh
(E) 3udth # ¥ #1$ T

Fefafgd & @ F9-91 78 96 G@ )
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(A) PRI

(B) sIaret

(C) we

(D) 3w U | UH A Al
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(A) foramEmE™

(B) =i
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(D) 39Y® | ¥ TH ¥ M
(E) 39w & & &8 7
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108. Armenia is a 111. The other name of the

thermosphere is

A tain knot
(A) mountain kno (A) exosphere

(B) country (B) ionosphere

(C) port city (C) ozonosphere

(D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

112. Which plateau has Dbeen
urbanized most in the world?

109. Which of the following is (A) Coastal plateau
situated at the highest altitude )
from sea level? (B) Continental plateau
(C) Foothills plateau
(A) Mathura
(D) More than one of the above
(B) Kanpur (E) None of the above

(C) Varanasi
113. Pisciculture indicates

(D) More than one of the above (A) determinism

(E) None of the above (B) possibilism

(C) probabilism

C . (D) More than one of the above

110. Which instrument measures the
distance between two points on (E) None of the above
the map?

114. For the first time, who divided

(A) Planimeter the circle in 360°?

(B) Porosimeter (A) Hipparchus

(C) Pyrometer (B) Herodotus

(C) Ptolemy

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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108. Tl & T 111. q9H S & g0 AW §

(A) T s (a) =fed =t
(B) M=M=
(B) = (C) AT &
(C) weEuTE TR (D) I § ¥ TF ¥ 31fae
(D) 393t & & T 9 31k (E) SHE 5 1 I T
(E) 3w § | 5 T2 112. fova & TR0 R 9erR W AfYw
g 77
(A) eIl TSR
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(A) wT (D) I & & Tk @ s
(B) M (E) Sugh # | g T
(C) =t 113. weFHN ga® &
(D) % & & vk & s (A) Frrfame @
. ) (B) HFJdTq hl
(B) S # @ =iE T
(C) TFITIATETG o1
(D) 39w | ¥ TH ¥ M
110. #Wf R & foagsti & = 6t g = (E) ST # & =i
O T ITHT B
() e 114. TEyaw fored ga &l 360° # fawifva
fepa?
(B) RHHTE (a) v
(C) TrRI (B) et
. (C) et
(D) 3t & & T @ enferen D) T 4 T
(E) 30w & & 15 T (E) 393 & & g T
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115. What type of system is our 118. On which mountain is Tehran

solar system? situated?
(A) Open system (A) Elburz
(B) Closed system (B) Zagros
(C) Control system

(C) Makran

(D) More than one of the above
(D) More than one of the above
(E) None of the above

(E) None of the above

116. Which one of the {following
groups of cities have been
arranged in the sequence of
their ranks, i.e., 1, 2, 3 and 4
in size?

119. Amarkantak, the source place
of Sone, Narmada and
Mahanadi, is situated at

(A) Greater Mumbai, Bengaluru, (A) Maikal Range

Kolkata, Chennai
(B) Makalu Range

(B) Delhi, Greater Mumbai,
Chennai, Kolkata (C) Rajmahal Hills

(C) Greater Mumbai, Kolkata, (D) More than one of the above
Delhi, Chennai

(E) None of the above
(D) More than one of the above

(E) None of the above
120. Topographical map of which

State has the maximum
117. Push and pull factors are magnetic declination?

responsible for

(A) Punjab
(A) migration

B) Madhya Pradesh
(B) land degradation (B) y

(C) Meghalaya

(C) slums
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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115. R 3 8 TR 1 9 87 118. d&tH fre ged w foorg 27

(A) e (A) TS

(B) == = (B) I

(C) oo = (C) Rt

(D) 3w U | TH A Afh (D) 3w U | UH A Al
(E) 3w 8 © *1g Tl (E) 3w & =15 T

116. f=ffed & & el & 5w wgg = 119. 4, THer 3R weEd &1 SAf-Tod

3T IR & H9 AAiq 1, 2, 3 3 4 TR FEl a7
& 4 afea fon w27

(A) TeRTeT Soft
(A) U GrTE, SR, ShICTehTdl, ©Hg

(B) e it
(B) feg, Iex gwaig, ==E, dieteprar ,

(C) TsHed weTfeat
(C) et grs, hierepat, fagft, = '

(D) IwE U | UH A Al
(D) 39w | ¥ UH ¥ M+

(E) 37 & & 18 e
(E) 3w & 9 18 7

120. fFE Tou &% TACHAE HAEEE A
117. u& 3R fa=ma wre R 2 Jreeh fa gtk Bft?

(A) e % fem (A) T
(B) ¥f" &wr & faw (B) TeT JaW
(C) et st o ferm (C) T
(D) 3w & ¥ w @ Afeek (D) 3Ww & ¥ wh @ Afeeh
(E) 37 & & 18 e (E) 37 & & 18 e
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121. Which rain makes soil fertile?
(A) Acid rain
(B) Blood rain
(C) Mud rain
(D) More than one of the above

(E) None of the above

122. Which of the following was not
emphasized by Christaller in

his central place theory?

(A) Shape

(B) Distance between centres
(C) Function

(D) More than one of the above

(E) None of the above

123. Tehri Dam Dispute is associated

with

(A) determinism

(B) possibilism

(C) stop and go determinism
(D) More than one of the above

(E) None of the above

24 /HV/M-2023-20/S5 (HS)/244-A

Which geographer is considered
as the ‘Father of History’?

(A) Herodotus

(B) Hecataeus

(C) Anaximander

(D) More than one of the above

(E) None of the above

The concept of landschaft is
related with

(A) French school

(B) German school

(C) British school

(D) More than one of the above

(E) None of the above

In which one of the following
environments does one expect
the presence of dispersed rural
settlements?

(A) Forest and hills in North-
East

(B) Arid and semiarid of
Rajasthan

(C) Lower wvalleys of the
Himalayas

(D) More than one of the above

(E) None of the above
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121. form awf & yfy 3ueTss 2t 27 124. #%H Piicedl  3ae™ & S HE

ST 27
(A) 3T at
(A) TUE"
(B) & awi
(B) Tehfemam
(C) (C) e &
(D) 39w | ¥ TH ¥ M (D) T & @ w @ s

122. fFeier 3 omd %o @ fagio 0 125, O e foemeam e et @ watia

Frfafaa o @ e afear 7t €7 27
() TR (A) T Tk
(B) =i % ot 1 ot (B) B wge
© (€) fafem wge
D T A s
(D) e & & w @ sl (b) ¥
(E) 374w d 9 %5 T
(B) S # @ =g T
126. frmfafed o @ forg araawn # foradl &%
123. &0 aty afesA i ek gefia & T SfeEt i ufafa o sele A
ST wehdt 77
A) frafqad fem o

(A) Iw-ud ¥ ST e gerteAt

() fom (B) TSRAM 1 Ik 3TN T

(C) ¥t AR SeAt fafaardt foem @ (©) e o Frerch et
(D) ST # 9 Th ¥ Ifern (D) 39 U | UH A Al
(E) 30w & & 15 T (E) 393 & & g T
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127. Which one

128.

129.

of the following
rivers is highly polluted?

(A) Brahmaputra

(B) Sutlej

(C) Yamuna

(D) More than one of the above

(E) None of the above

Which canal does not shorten
the length of sea route?

(A) Panama

(B) Soo

(C) Suez

(D) More than one of the above

(E) None of the above

In which district
maize  crop
maximum?

of Bihar,
production is
(A) Saran

(B) Siwan

(C) Muzaffarpur

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-20/S5 (HS)/244-A

130.

131.

132.

Which of the following shows
the ocean bottom relief?

(A) Ergograph

(B) Hythergraph

(C) Solonograph

(D) More than one of the above

(E) None of the above

The country having the longest
coastline in the world is

(A) Canada

(B) Indonesia

(C) China

(D) More than one of the above

(E) None of the above

Shifting away of industries and
people from the cities is called

(A) migration

(B) rurbanization

(C) counter-urbanization

(D) More than one of the above

(E) None of the above
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127. FHfafed § ¥ ®HA-H# 98 T@fw 130. fHfafead § § #HH-91 WeMriE Had

g 27

(A) SEgA

(B) Hdetst

(C) =g

(D) 39y H ¥ TH ¥ M
(E) 3udth # & 1S 7

128. TFE T8 R |EZ-AT I @ A
& el ?

(A) T

B)

(C) ==

(D) 30w W | TH § Afh
(E) 3udth § & 1S T

129. R & g & & mem &1 3o 132.

Taffies g 87

(A) RO

(B) foam

(C) PRI

(D) 39w H ¥ UH ¥ M
(E) 3udth # & #1$ T

131.

IATa I WERia s 27
(A) it

(B) #eunms

(C) WIS

(D) 39w | ¥ UH ¥ M+
(E) 3udth # & 1S T

forea 1 waffaes ol qedan aren 39 2
(A) TS

(B) 3 SHREMET

(C) ==

(D) 3w U | UH A Afh

(E) 3udth # & 1$ T

I quT AR 1 TR G SR
T TSI FHEATd &

(A) vaTE

(B) TSN

(C) ufd-TreRtor

(D) 39y | ¥ TH ¥ M
(E) 3udth § @& #1$ T
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133.

134.

135.

Vegetationless wasteland in
Malaysia is called

(A) Padang
(B) Ladang
(C) Semang
(D) More than one of the above

(E) None of the above

Phoenicians are associated with

(A) Turkey
(B) Greece
(C) Egypt

(D) More than one of the above

(E) None of the above

The average distance between
Dak Bangalows is

(A) 25 km
(B) 50 km
(C) 75 km

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-20/S5 (HS)/244-A

136.

137.

138.

Which of the following figures in
cubic kilometres correctly shows
the total annual precipitation
in India?

(A) 2000
(B) 3000
(C) 4000

(D) More than one of the above

(E) None of the above

Which one of the following
diseases is caused by water
pollution?

(A) Conjunctivitis

(B) Diarrhoea

(C) Respiratory infection

(D) More than one of the above

(E) None of the above

The port city Dubai, located on
the coast of the Persian Gulf,
is situated in

(A) Saudi Arabia

(B) United Arab Emirates

(C) Kuwait

(D) More than one of the above

(E) None of the above
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133. woilREm H FEldeEE S W 136. fHfafad # & wH-\1 3iwer Wi |

FHEAT 8 Fol @i Tt # oA fhadfer ¥ wd
. NG
(A) "=
(A) 2000
(B) <&m
(B) 3000
(C) Tmm
(C) 4000
(D) 37 & & TF ¥ srfere (D) o # & T & sl
(E) Sugth # 4 g T (E) 30w & & 38 et

134. BHIREH F&fda § ,
137. Ffafad § 9 SH-91 AT STA-Tg00

A) H @ I T 87

(B) | & (A) HiTsETEiH

() fma (B) =wreE

D) T A T @ s (C) el g

B) T A (D) 39w | ¥ TH ¥ M=
(E) 39w & & &g T

135. <& STl & AT ol 3NEd 3TaU 2l '

3 138. wNH WSl d¢ W o e TR, g5
for T & 27

(A) 25 fRo o ) T s

(B) 50 feho Hio I p———

(C) 75 o Hio ©) T

(D) 3 H T ¥ FAfern (D) 3T & ¥ UF F

(E) 3w H © *1E T (E) 3w § & 15 T
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139.

140.

141.

In which district of Bihar,

wheat crop production is
maximum?

(A) Patna

(B) Rohtas

(C) Jehanabad

(D) More than one of the above

(E) None of the above

What is the latitudinal and
longitudinal extent of the map
on RF 1:50000?

(A) 2°x2°

(B) 1°x1°

(C) 15'x15’

(D) More than one of the above

(E) None of the above

144.

Which of the following does not
affect current?

142.

143.

The shifting cultivation of
Indonesia is called

(A) Ladang

(B) Chena

(C) Masole

(D) More than one of the above
(E) None of the above

In the world, the maximum
number of pastoralists found in

(A) Africa

(B) South America

(C) Eurasia

(D) More than one of the above
(E) None of the above

Who was the propounder of
‘diffusion of innovations’

(A) T. Hagerstrand
(A) Salinity
. (B) Von Thiinen
(B) Wind
(C) Attraction of moon (C) Griffith Taylor
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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139. foer % fFE N # T &1 I 142. 3SHRET  #H  WEFORIA FH

waffere 2 g ? FEATdl 8
(A) T (A) <&
(B) e (B) =
(C) SwETTE ©)
(D) 39Y® | ¥ TH ¥ M

(D) 39w | ¥ UH ¥ M+
(E) 3ww & 9 18 T

(E) 37d & & 18 T

140. 1:50000 Wezier f9d o1 AFERA
F A N WA TR B y43 o wifs s w7

BIaT 27
o mo (A) TR
(A) 2°x2
(B) ferft sofw
(B) 1°x1°
(C)
B (D) 3wt & & @ st
(D) 3Ww # ¥ T F Atk E) T i @ 2
(E) 39w H ° 5 T8
144. ferpm % woww AR F
141. g f=fafiaa 4 @ frag wwfea = Tfrares &
Bt 27
(A) Fo THEE
(A) @
(B) &= (B) & o
(C) =1 I v WifE (C) Frftrar 2o
(D) 37k | O T A Al (D) 3w & ¥ wh o afeeh
(E) 3w ® § 15 T (E) 393t & & g T
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145. The generator of a land use is

146.

147.

(A) transport facility

(B) industrial unit

(C) capital

(D) More than one of the above

(E) None of the above

The earliest iron and steel
company to be established in
India was
(A) 1OSCO
(B) TISCO

(C) Visvesvaraya Iron and Steel
Plant

(D) More than one of the above

(E) None of the above

Which of the following countries
has no international boundary
with China?

(A) Myanmar

(B) Thailand

(C) Laos

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-20/S5 (HS)/244-A

148.

149.

150.

Which river passes through
all the three Indo-Chinese
countries?

(A) Iravadi

(B) Mekong

(C) Chindwin

(D) More than one of the above

(E) None of the above

The average height of Kosi
Plain from mean sea level is

(A) 150 m
(B) 100 m
(C) 30 m

(D) More than one of the above

(E) None of the above

Which of the following is not
a difference between a sketch
and a map?

(A) Scale
(B) North

(C) Representation of
graphy

topo-

(D) More than one of the above

(E) None of the above
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145. e 3w o1 SRS BT 2 148. fr=fafed § @ FF-8 7 fGe-<ia &

o oM © Bt oAt 87
(A) uiEes gl
(A) STt
(B) =frenfies grs
‘ (B) i
(C) gt
(C) fusfem
(D) 3w U | TH A Afh
(D) 39w | ¥ UH ¥ M
(E) 37 | ¥ 18
(E) 3w # © 18 T
146. wRd H Tfyd &9 el dsd uged
IR Ug W et oft 149. il HgH H 9gZE T U AEd H9TE ©
(A) T (A) 150 o
(B) o=t (B) 100 Hto
(C) fomemaian s U wid Jad (C) 30 Hro
(D) 3w # ¥ wh @ afeek (D) 3w & O wh ¥ Afeeh
(E) 37 | & 18 e (E) 37 & & 18 e

147. F=fafed o @ frg <o it == % @1 150. ffcfad # & HH-81 aFres qon @6

sty o E 87 # o T 27

(A) FHHR (A) =T

(B) ot T (B) W

(C) emei (C) Torer&dl w1 YeTH

(D) 39y | ¥ TH ¥ M (D) 39Y® | ¥ TH ¥ M=
(E) 3w 8 © %18 T (E) 3w & 15 T

24/HV/M-2023-20/S5 (HS)/244-A 45 (I p..o.



SPACE FOR ROUGH WORK / T% &% & foTu Tom
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24/HV/M-2023-20 et @t

IHIGIR T ITHATH

- g A

HTHT, AT TETAT IR A

| w7 :2:309 2 | ( 9ot : 150 )

T3l % IR I W Ugd i for@ 1R @ s W ug o |

el e

. TE gE-gfeae O A | fousa 2 —wr-1, 9m-1 TE W11 9E-1 H OWTST (STE) % W ¥, 9E-IH

AT AT F T ¢ a1 -1 § et & T F1

. 91 H U9 & 1 9 30, 911 °§ U ST 31 9 70 997 W11 § U ST 71 ¥ 150 9% & | WET-I1 a1

II-1I1 § J99 37 39k I st v fe=dt & gfea 21

3. asft wE F I wEH B
4. ThHET AN T A M9 AT TyA-YfErert H e T @ o foh THh T I 3R TvA-gieaert

G
[isa B | Fuan Aia o foh gieas 9 W *1@ 7g 31 ST (Y8 Ho 46 3R 47) Afea W 48 Fisd IS § iR &3
YT AT YB o1 DUT g1 AT WeT AT AT SN SATAT GIAT AN AL ¢ | Gieaewt W FoREt TRR Y Fi U W achtet

TR R T e 1 g g W S

5. 30 8 % IW Fulfa wom § e sgedie saw ford | y-gfeae ® iR 39 7 ford
6. T % IW I o foTU AIeR! et ERT ST ¥ IW TAS AT SR 31U IR Uk & Ys-1 W Fuif| T |

10.

11.

12.

ITUAT ATH qAT 37 Torerur 3raga ford e 37Tueht 3T U=eh SIi=ll &l S|

. IW TF F YB-2 T FUifiE W G T IIwATR U1 A-YiEaet @i J@em A, B, C A1 D @

TY-YfEeRT o TR U8 ok FW IR IR SAfRd 7, ﬁwﬁ%a@wﬁ/ﬁwﬁﬁ%wmﬁ?@m
FeTE, | I U W TYA-YIETehT JEAT 3ifehd A& A TS TeTd JE@EAT 3ifehd T W I UAH T AL
TR TR

. I T % °rE IW—(A), (B), (C), (D) ¥R (E) #9 W &3 T 2| 379 ¥ 219 g G oot Teh I HI A 3TN

T IW T W3l H| SR Fol TTHIH TR TN IW TR H 3ifRd we Iad Wl )

. I TAE H YA T HEAT %k WA Ui 99 39 TER o4 g E—@), ®), ©, © R ®)| v F IW A F oy

JMIH! T T2 % HAA Uk g ol et /el Tl & ard-uise o1 § Ffgd w6 31 7% 791 & o shaw
IW B G IR I 3T IW T H fafed w1 9 IR w6 | Al T T * e vk @ Afaes g9 # e @ 2,
Al ATIHT I TTAd HHT TR | ST U=k H I ohi TATEd o o ToT0 shaled shTedt/<ieil TTE & SicA-qig- =
& AR R TR At TER H FwE-ge suan uiEdd A A8 R

TRA-GIETHT § IS T BISAT AT I HAT T & | T -fEdhT 3R IT T bl T atd § wdien wad ¥ A
?ﬁﬁ:{ﬁaﬁluﬁ%m%wmwmaﬁ%aﬁalawﬁqélwﬁ%aﬁaﬂqaﬁamtﬁw—g&\awmﬁma
% A 21

T % IR 7§ et T A oft arer T W S WA o [egER eSS Skl § STUET SR
7 T famn s whan 2

;mg‘féw Uk 1 210 3UfEfd # Self Adhesive LDPE Bag # O aX @ e /€ffet sam o 3Iwia & wiersher
|

Note : English version of the instructions is printed on the First Page of this Booklet.

I TR LR 48 24DK2—1827x4



	Cov-Eng-A
	1-8 (English)-A
	9-30 (Hindi)-A
	31-70 (GS)-A
	244-A
	Cov-Hin-A

